
 Lesson 7 Quiz  

SBU 2020   Lesson 7 (quiz)  

 

 

1) Partner opens 1 and your hand is: 

 

   A932 

   K1086 

   K54   

   J7 

 

 What is your response?  ____________ 

 

 

 

 

2) Partner opens 1 and your hand is: 

 

   Q106 

   KQ7  

   Q52   

   10943 

 

 What is your response?  ____________ 

 

 

 

 

3) You opened 1 with this hand. 

 

   AQJ75 

   AJ32 

   9  

   AQ4 

 

 Partner responds 2. 

 What do you bid now?  ____________ 

 

 

 

 

4) Partner opens 1. RHO passes. What do you respond with these hands? 

 

a)  AJ84 b)  J64 c)  K85 

  Q863   94   732 

  1052   KJ742   QJ6 

  42   Q87   K843 

 

 

_______________ _______________ _______________ 

    

    


